EARAZROREIERT — 2 N—XBISY —F 201952850 (X&) 15@EEH5H

M C3—6 C3 H7%—f% ‘ (XM&] W ‘ (Ml — | 4 (®) 13000 &
[A&4£] 17 :200,000™ ~ 23#%&:70,000"  33&:40,000 ~ 437 :30,000” .~ 5 7 :20,000 H
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. g | RURFER 1:25.7 1-1-1-1 | 41.2| — 5 489 | RURFEE] (&)
1 2| ENX 755.0 (=) 1) | ) Nicks
LWy 7z4%ZX BF<UT AR B
s 4 RS 1:25. 54— 40.2| — 4 434 | NIFBES (SH0)
ol5|5 | 273 )y “ 56.0 (3/54>9 A (+31) TEAR S
L:xF1=TGr—R B:I)-NEALF— [ia=Ese]
. ca g FFRATE :25. ~7-6- . - Lz (FH)
3lgli0| XTFRXLITET o8| B 1(’7251:? 7765 | 39.8 ! (5_0; Pl 4)
Z:d—IKRT7Ya—b BNRTFRET— [ a=bae]
= = # 5 | ARER 1:26.0 10-10-9-6 | 39.1| — 1 482 | BILRE (BH)
4189 Y77 d-)b 56.0 (1/2) (+5) AILEE
L:d—IKT7Ya—b B:TYVYTLRRZ— Blcie]

SR, # o4 | BIIE 1:26.1 2-2-2-4 |41.4| — 3 469 | FTBBE (&)
]4 FUZSIYNY 56.0 (7E) (o) | ERLRE

g4 7= B:YvA=2TEY BN
NS # 5 | BEBEKX 1:26.1 3-2-20-2 |41.4| — 2 | 473 | AEEEA (BAD)
6|1|1| =T AT 6.0 (757 s |BEERS
RHTIRTAY B bh—THEIEX N — 7405
s g t 4 | EBEE 1:27.2 6-6-7-7 |40.9| — 6 428 | BIFFET ()
7 3 ARETAH— g 56.0 (5) (-1) |BBEA
L= 74—X B:v1xXNY>H EvJdLy RT77—L4
=== 11 | WEEEE 1:28.2 9-9-10-10 | 41.0 | — 10 | 447 |EHPF (SH)
8 6| 7A-NTZTZ # 56.0 (5) (-g) |EME
R:F4—T1>17 b BT ZAN) 2 TE2—FT 1 J =Y Ty —L
s ege —ia BRABLRE 1:28. -8-8- 2.4 — 4 HAKE (BH)
9l7|8|Ty FH-—FT> i 9 AB52.0 (38)8 889 ’ (_:;8) %F%E
LN=YFNTy 1 BiaA MLEA L Nt ik
= : # 6 | EREFEE 1:29.5 4448 |43.9| — | 8 | 438 |HAAKE (FH)
1007]7|7TAT1TL=F 54.0 3) 1) | @) FITaTu—2xs 5K
RiALYaK—F— BFEH I HEFHRF—T I

@ 11— —EBIRfL

13=zr= 2,4,1,7,5,3,10,8,6,9
2I=zr= 2,(1,4),7,5,3,10,8,6,9
33—F-— 2,(1,4),(,7),10,3,8,9,6
43—+ — 2,1,5,4,10,9,3,7,8,6
o IRE
BB 2 1,270 | | 74 K 2-5 1,160M & 2-5 4,370H HER 2-5-10 25,860
7 B 2 290H 2-10 2,400M 5 E 2-5 3,320H 3EE 2-5-10 151,910M
5 200H 5-10 2,470M 5 B 2-5 6,100M
10 850M

ABICOVWTRDTEEERROODE. TR LIV,



